
Ø8*30

H 24x

GABRIELA SKRINA 200

27000,00

2x

10x

S

C
Ø4*45

70017,36

22055,00

L 16x

34902,00
D 2x

Ø4*70

22213,00

G 2x
Ø8

24103,00

E 4x

K 2x P 16x

Ø3,5*16

J M14x 16x

22244,01

31103,0030090,00 70013,01 70021,01
B 20x

50553,00

180min ≤ 0,5 kg 3m Ø8mm 600 mm

C
LE

AN

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

8x

8501,00

N 4x

70018,02
F 4x

M6*30

975mm

160xQ
Ø3,5*15

22243,00

3x 1x 1x 3x 2x 1x 2x1x

2x

16x

2x

T U V X Y1 Y2 Y4Y3

Z

Q1

Y5

9312,00 9361,01 9393,00 9363,00

9320,00

21xR

9290,00

Ø3,5*25

9315,00 9319,009317,009316,00

9318,00

22235,00
2xI2

9322,00

M6x16

2xI3

9323,00
2xI1

9321,00

1xW

9383,00

2

4

6

3

5

7

8

9

10

11

12

2000*575*16

984*528*16

2000*529*16

984*528*16

1924*498*2,5

984*60*22

984*60*22

2000*550*16

984*420*22

1020*496*16

1020*496*16

1x

2x

1x

2x

1x

2x

4x

4x

2x

4x

2x

10667

10669

10671

10668

10670

05192

05193

10672

10673

10674

10675

1/7

2/7

2/7

3/7

2/7

3/7

3/7

1/7

3/7

4/7

5/7

6/7

ID ID

22450,00



2

6

cca150mm

Ø8*30

H 24x P 16xJ M14x 16x N 4xF 4x
M6*30

180°

6
9

7 8

4
3

10

2x 2x

2x
2x

2x

19mm

8mm



10xC
Ø4x45

19,00 mm 0,00 mm8 7
3

2x

19,00 mm

4

8

3

7

5 5

5 5

START MIN MAX

START MIN MAX START MIN MAX

4

6

3
START MIN MAX

START MIN MAX

B 1x

B 1x



8xQ
Ø3,5x15

L 16x

D 2x
Ø4x70

G 2x
Ø8

E 4x K 2x
Ø3,5x16

B 18x

8x

9

cc
a 

32
5m

m

2xS
975mm

10

START MIN MAX

10



1x 2x 4x8x W Z Q1Q

b

Ø3,5x15 Ø3,5*25

11

3.

4.

11

a b

a

11

11

2xI2
M6x16

2xI32xI1

1010

2.

2.
1.1.

kg

kg

12

12

12

12



84x 21Q R
Ø3,5x15

a
b

cca 170mm
cca 340mm

3x 1x 3xT U X 32xQ
Ø3,5x15

a
b

b

2x 1x 2x1x 2xY1 Y2 Y4Y3 Y5 28xQ
Ø3,5x15

a

cca 125mm

cca 250mm



1.

3.

8.

b

5.

7.

b
a

4.

9.

3.

8.

2.

6.



1x 12xV Q1
Ø3,5*25


